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VERSION 01
MARK TEST NUMBER 01 ON YOUR SCANTRON
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STUDENT ID
RECITATION INSTRUCTOR:
INSTRUCTOR:
RECITATION TIME
INSTRUCTIONS

1. Fill in all the information requested above and the version number of the test on your
scantron sheet.

2. This booklet contains 25 problems, each one is worth 8 points. The maximum score is
200 points. '

3. For each problem mark your answer on the scantron sheet and also circle it in this
booklet.

4. Work only on the pages of this booklet.

5. Books, notes and calculators are not allowed.

6. At the end turn in your exam and scantron sheet to your recitation instructor.
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1) The area of the triangle with vertices P(1,2,1), @(—1,3,2) and R(3,1,1) is equal to
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2) Let P(2,4),Q(3,~1) and R(1,3) be 3 points. The cosine of the angle between vectors
PQ and QR is
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3) The area of the region bounded by the curves y = 2 — 2? and y = z is
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4) The region bounded by y = 2z, y = 0 and z = 2 is rotated about the y—axis.
The volume of the resulting solid of revolution (using the disk/washer method) is
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5) The region of the first quadrant bounded by the curves y =z and y = /7 is rotated
abous the axis z = 1. The volume of the resulting solid of revolution (using the cylindrical
shells method) is equal to
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6) If the work required to stretch a spring 1/2 ft beyond its natural length is 8 ft—
Ibs, how much work is needed to stretch it 1/3 f beyond its natural length?
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9) Which integral arises when one uses a trigonometric substitution to evaluate
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A) the integral diverges
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12) The curve y = 2% 2 < z < 3 is rotated about the line y = —1. The resulting
surface has area given by ‘
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18) The area of the region of the first quadrant bounded by y = 2 — 2%, y = z and the

y-axis is equal to 3 Find the z-coordinate of the centroid of the region.
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14) The limit of the sequence a, = nsin (
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15) Which of the following statements are true about the series Z an?
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A) All three are correct
All three are incorrect

C) I and II are correct, III is false

D) II and III are correct, I is false .
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16) What can be said about the convergence of the following series
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17) Which of the following series diverge?
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18) Which statement is true about the following series
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A) All are condltlonaﬂy convergent.
B) All are divergent.

@1 is conditionally convergent, 9, is absolutely convergent and S is divergent
D) S, is absolutely convergent, .S; is conditionally convergent and Sz diverges

E) S; and S, are condltlona,lly convergent Sy is absolutely conver, ent
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18) The radius and interval of convergence of the power series Z {

satisfy

A) The radius is equal to 1 and the interval is (0, 1).

B) The radius is equal to 2 and the interval is (0, 2).
C) The radius is equal to 1 and the interval is (1, 3).
D) The radius is equal to 1 and the interval is (1, 3].

@The radius is equal to 1 and the interval is [0, 2].
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21) Which of the following is a power series representation of the function
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22) The foci of the ellipse —9— + ¥ =1ame

A) (=3,0) and (3,0)
B) (—5,0) and (5,0)
(00, ~v7) and (0, V)
D) (—=v/7,0) and (v7,0)

E) (0,-3) and (0, 3)
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23) The graph of the curve given by the equation r = 1 — 2 cos# looks mostly like
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24) Which of the following are polar coordinates of the point whose Cartesian coordinates

are (—1, —v/3)?
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